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Please check that this question paper contains 15 printed pages.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 27 questions.
Please write down the Serial Number of the question before
attempting it.

15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer
on the answer-book during this period.
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(i)

(ii)

(i11)

(iv)

(v)

(vi)

(vii)

(viii)
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YT &, &, 7 IR T & Jo9] A SaRe® 597 I T 8
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T F & J97 G&IT3 & 5 31-31 37hl & F97 & | 579 I TTHT 30 Vo] Tdh
F378 1
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General Instructions :

(i)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)

(viii)

The question paper comprises five Sections, A, B, C, D and E. You are to
attempt All the sections.

All questions are compulsory.
Internal choice is given in Sections B, C, D and E.

Questions number 1 and 2 in Section A are one-mark questions. They are
to be answered in one word or in one sentence.

Questions number 3 to 5 in Section B are two-marks questions. These are
to be answered in about 30 words each.

Questions number 6 to 15 in Section C are three-marks questions. These
are to be answered in about 50 words each.

Questions number 16 to 21 in Section D are five-marks questions. These
are to be answered in about 70 words each.

Questions number 22 to 27 in Section E are based on practical skills.
Each question is a two-marks question. These are to be answered in brief.
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SECTION A
1. fawarm &1 SI. A IR 38 WIOH o Tl ST i S arefl I w1 9
fafey | 1
State the S.I. unit of potential difference and name the device used to
measure it.
2. 953 394 o ql TN i T TR | 1
List two characteristics of a good fuel.
o d
SECTION B

3. Tl 3T TUU & YT Bihd hl AR TR T fohor & deged wafd
fortor 1wy 9 o fofu amifeRa TRt foRtor s difew 3T 39 W 3T9ad
<hIUT T YTEd IV 3fehd shIfWT | 2

Draw a labelled ray diagram to show the path of the reflected ray
corresponding to the ray which is directed towards the principal focus of
a convex mirror. Mark the angle of incidence and angle of reflection on it.

4.  IEEHN &F [@IST o IR OgH! i FET TR | 2

List four properties of magnetic field lines.

5. &Y I R HhEd 3 2 3HE fagd g Yaifed U4 W T BT ® 2 36 faU
Tt TR ffa | 2
Jrera

forelt <fiept T oIt Am | iR 3TaTss ookt 38| a9 HCl firam W femms <
el qiEHT I T AT | B aTell AR 1 Fictd THRIHS FHR
fetf | 2

What is brine ? What happens when an electric current is passed through
it ? Write chemical equation for it.

OR

List the changes that are observed when dil. HCI is added to a small
amount of copper oxide in a beaker. Write balanced chemical equation for
the reaction.
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SECTION C

ot ST T 1 B g 20 cm B | 39 QU A 4 cm T R i
fopaft g W v foh IgehT widfers gdor € 30 cm g W &4 | &4 a1t Widfors
&1 @Tee ot aftepfora HifT |

AT

fopell 3Tt i g fopet forrear ol & € 12 cm 0 W T S W 38eh! fovet o
TS I 2/3 T, AT Tifeisl ST 8 | T ohl Hishdl gl HTd HINY |

A concave mirror has a focal length of 20 cm. At what distance from the
mirror should a 4 cm tall object be placed so that it forms an image at a
distance of 30 cm from the mirror ? Also calculate the size of the image
formed.

OR

A real image 2/37d of the size of an object is formed by a convex lens when
the object is at a distance of 12 cm from it. Find the focal length of the
lens.

foreht &fs HIae @ raaq Terd foret grraTd! Hg aTereh & Ir AR Icad
JrEhiT & 1 & @Al W Ued Wiew | gfvrged oy fem faRew st
e i % afg s & Feater = 6 foon § faga am verfga & @@
3, @ a8 fom Suded gew # grahig & it fean fruffa +@ @ fha ger
ERRILIN I

Draw the pattern of the field lines of the magnetic field around a current
carrying straight conductor passing through and held perpendicular to a
horizontal cardboard. State right-hand thumb rule and explain how this
rule is useful to determine the direction of the magnetic field in the above
case, if the direction of current in the conductor is vertically downwards.

IS TIEH T BEGFAGh 3 & TR foht T T | 08 Sielt 7Y <al ® |
39 3T%h 1 TR fARay | 38k 15 3% § 91g ! fohd Tohr e foRem
Tehdl 7 ?

An ore on treatment with dil. HCI gives the smell of rotten egg. Name the

type of this ore. How can the metal be obtained from its concentrated
ore ?

forelt 375k FaeM el § T Howhe o 2 g Tohtedl w1 T foham w7 |
(a) Toregl g1 ATl <1 = SHIST |
(b) BH el TEEte Stfufshar w1 yer fofe |
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(c) Al =1 wgfctd TE™e TRt fafaw i a7 ater 3camel &

Tm fafeu | 3
AUAT

M g Are forem g fop Sia fopelt = fewr § i qeex (Fot) T foRa
SITAT &, A1 SI9 % JISel o WdTH X I8 W Tohelt et ugred i wa o= STt
21
(a) I8 Al Yerd I & AT 2

(b) I hicAT UeTef T B 2
(¢) B arell srfufspan =1 wEmfes wfisrto foflay |
(d) IS8 W 1 39 el Wd I ThE ThR T gt foram ST dehat @ 2 3

2 g of ferrous sulphate crystals are heated in a dry boiling tube.

(a)  List any two observations.
(b)  Name the type of chemical reaction taking place.
(c) Write balanced chemical equation for the reaction and name the
products formed.
OR
You might have noted that when copper powder is heated in a china dish,
the reddish brown surface of copper powder becomes coated with a black
substance.
(a)  Why has this black substance formed ?
(b)  What is this black substance ?
(c) Write the chemical equation of the reaction that takes place.

(d) How can the black coating on the surface be turned reddish
brown ?

10. % I HIFA FR TS §HH & AT Feh T THT 390 Th 9d I8 e
ST 8 | 39 UISEL % UHE aFal o AW ARG q¢1 YAH A9 ok HE hl
AT T | Tehed I G | IS Bl TH hid T B dredl AT =
et Tt forfay | 3

A white powder is added while baking cakes to make it soft and spongy.
Name its main ingredients. Explain the function of each ingredient.
Write the chemical reaction taking place when the powder is heated
during baking.

31/5/12 | 5 P.T.0.
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12.

13.

14.

15.

TTFIRT o6 €9 H BT 3R AR o &= dIF 3T ! = s18T |

List in tabular form three differences between blood and lymph.

a7 T foreft A (sra@iem) ® faaa &1 yarg e afest wifve &
dferer (vt ft & oot dfien wifsrht % gaTeRfes fat 1 @I g ®, T
gaeh! faudia foem # & gran 2 T i |

Why does the flow of signals in a synapse from axonal end of one neuron

to dendritic end of another neuron take place but not in the reverse
direction ? Explain.

fafirerareti o 39 B4 @ forell wiiefis o sifeaea o gfg fopd R &1 9Tl B 2
Toreft SeTetor i TEEdaT @ =re I |

How does the creation of variations in a species promote survival ?
Explain with the help of an example.

JMER J@e Fre ®egd & ? Tret aiiias o ol YaT8 ThicReh i gl & 2
Tireq s i |

AT

(a) TS IUFI 1 3Tk A () Ty § & i @ &1 =iy 2
(b) &G o YH: YT I JoAT H 3T H: STANT S5 T 8 ?

What is a food chain ? Why is the flow of energy in an ecosystem
unidirectional ? Explain briefly.

OR

(a)  Why should National Parks be allowed to remain in their pristine
form ?

(b)  Why is reuse of materials better than recycling ?

A1 bl SGdl AT o GHTSROM YRUTHT T g <hIfTT | Holl <hl! TIA bl A
A o TR I I A ST |

Mention the environmental consequences of the increasing demand for
energy. List four steps you would suggest to reduce the consumption of
energy.

31/5/2 5
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16.

17.
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W
SECTION D

60 cm BIRH g 6 fohell s1adel oW T ITANT 39 <@ H 30 cm g0 W fed
et 9 cm @l fora = wfafers sAM o fomn 2@ 1 <fW T3 1 ST S
et Sfciforrs 31 wepfar, fearfa i wwars fuffa e o A | Swde yentor |
ikfers ST g1 % foTg Fmierd fomor st +ft Eiifer |

A concave lens of focal length 60 cm is used to form an image of an object
of length 9 cm kept at a distance of 30 cm from it. Use lens formula to
determine the nature, position and length of the image formed. Also draw
labelled ray diagram to show the image formation in the above case.

Fra feu v gfmen o, yes ufuy ©, 2 Q giatess grr 3w it TRt wrfcEt
I AT HINT :

1Q
1Q 2Q ::::
VAV VA
2Q
+| L + =
| ! 1]
6V 4V
A B

HAAT

Tore SIee ST AT 40 W; 220 VR | 38 9cd ol 220 V 3MYfd & @i
FH W ded g o T g i T | gea w1 gfiy oft 3ma wifve | afg
39 9cd i 25 W; 220 V 3TIHARE o fohtll Sod gHI Siaeeiud & <, a1 9
3R yfeRiY & o1 | 1 aRad= g 2 3199 3T hl HRYT |fgd gfee dhifsre ok
BN ol gitera sl Ftfa i |
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Compare the power used in 2 Q resistor in each of the following circuits :

1Q

1Q 2Q
A% VWY

OR

A bulb is rated 40 W; 220 V. Find the current drawn by it, when it is
connected to a 220 V supply. Also find its resistance. If the given bulb is
replaced by a bulb of rating 25 W; 220 V, will there be any change in the
value of current and resistance ? Justify your answer and determine the
change.

18. (a) RV QT fop W@ T B foF e T @ C4+ AR S Fohal g AR A
B C4- UM ST Hohall &, T Heas T4 AT § | SEeh! ST

FE & fau ft s S for aggast Aifires

() fagd & Femers w0 8 & qen

(i) 37 AT o TS TR FFIHATR = I 21 2 |
(b) S (CgHg) T TTaATeHS T foAfET |

AT

(a) ‘FHETEIE Ug i IR faRgu |

(b) @I AFERI T THH 3Tk §F CqHgO & | 39 GHI ARl o AW R
HLEHTeRS 7 faRan |

(¢) 3 F=fafed ufeds fora g ST :
(i)  UHTA ol wefH |
(i) WU ol FUTsh T |

31/5/2 8
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(a)  State the reason why carbon can neither form C4+ cations nor

C4- anions, but forms covalent bonds. Also state reasons to explain
why covalent compounds

) are bad conductors of electricity.
(i1))  have low melting and boiling points.

(b)  Write the structural formula of benzene, CgHg.

OR
(a) Define the term ‘isomer’.

(b)  Two compounds have same molecular formula C3HgO. Write the
name of these compounds and their structural formula.

(c) How would you bring the following conversions :
(1) Ethanol to ethene
(ii)  Propanol to propanoic acid

19. (a) oMYl oad @neft & Tgg (y9) H afumn fafge | freht wgg #
TSR], TCETY] |TES TR anfedeh oteqor fopd Jepm foremor ot 8 2
(b) Torelt aa w1 TR U 14 7 | wherur Shifvw R w1 38 o § anfeas
U1 BT AT G | 3T I I DRV Aid g T | 5
(a)  Define groups in the Modern Periodic Table. How do valency,
atomic size and metallic character vary in a group ?

(b) The atomic number of an element is 14. Examine if this element
will have metallic properties or not. Give reason to justify your
answer.

20. (a) FAfafea fra yr Sl 4 foem & T@eHA § yomor J&qd o & ?
T shl IETEA0N Afgd @t Hifu |
(i)  gHma A
(i) aueY (FHgR) 3
(iii) ~ Sffemen
(b)  Sfarent st 1y Faifa s 6t g1 fafet 6 smen Fiflvw | 5

(a) How do the following provide evidences in favour of evolution in
organisms ? Explain with an example for each.

1) Homologous organs
(ii))  Analogous organs
(iii) Fossils
(b)  Explain two methods to determine the age of fossils.

31/5/12 | 9 P.T.0.
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21. (a)

(b)

(a)

(b)
(c)

(a)

(b)

(a)

(b)
(c)

31/5/2

TR 3R T T o St faved v | forsft 59 o fv=M & Toa
3R IS T 3gW@ iU |

frefefiga wrTl <l gerid gU Sk 1 ATdifehd TRE Eifey :

afeht, dfcel, VS, HTET JHh

HAAT

HHd HICl o S99 a3 o1 3@ difke 3t Feafaiga a1 amifed
T

() 98 ¥ S VS 39U BT 7 |

(i) 8 | &l e[ 2 g |

AfiTeh T=Ror g1 B Tt o SEm-sIfad A <hY g s |
Mg Iloaar F1 Bt & 2 AEd g TGS il B ST 6
3l R0 T |

Distinguish between cross-pollination and self-pollination. Mention

the site and product of fertilization in a flower.

Draw labelled diagram of a pistil showing the following parts :
Stigma, Style, Ovary, Female germ cell

OR

Draw a diagram of human female reproductive system and label
the parts :

) which produce an egg.

(i1)  where fertilization takes place.
List two bacterial diseases which are transmitted sexually.

What are contraceptive devices ? Give two reasons for adopting
contraceptive devices in humans.

10
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SECTION E

22. T o o9l o YU o F=fcrfaa 9w @t ol & foe amifea sm@ it : 2
AT
foret B 3 B13ET U 3Tl S g arelt TR Tge w1 ver feRan | 39

fereneff gra fepw @ Jeqoni w1 3fea she O AR i@ difww | 58 S A
gfsean &1 =g o) fefeaw | 2

Draw labelled diagram to show the following parts in an embryo of a pea

seed :

Cotyledon, Plumule, Radical

OR

A student observed a permanent slide showing asexual reproduction in
Hydra. Draw labelled diagram in proper sequence of the observations
that must have been made by the student. Name the process of

reproduction also.

23. ‘W9 M & fou et wxfi & oot &1 Tt Eu UR e, YA °
fromia =T Bk =1 ST foman STTaT B | 39 291 1 ST e IR I TR
STTAT 8 2 ST Shifoie | 2

In the experiment “To prepare a temporary mount of a leaf peel to show

stomata”, glycerine and safranin are used. When and why are these two

liquids used ? Explain.

31/5/12 | 11 P.T.0.
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24, A @ IR & 99 g0 foret arra h Iufeafa <1 qfiemr forg g fomam
ST B 2

AT

UHifesh Tt o TUIUHT HT HLRE HH b U ThH BT HIg TAN H G 7

frefafad sea1 w1 3 G

(i)  hIeF SEATHIEE IcUd D o f VHifes e ¥ e S 9Tt ered
&1 9 fefgu |

(i)  AffsRaT % foIT Heg Tamfe et € |

(iii) TR § CO, 19 o1 T&v a8 fhd TR T ?

How is the presence of an acid tested with a strip of red litmus paper ?

OR

A student is performing an experiment to study the properties of acetic
acid. Answer the following questions :

(1) Name the substance he must add to acetic acid to produce carbon
dioxide.

(i1))  Give the relevant chemical equation for the reaction.
(iii) How would he test CO4 gas in the laboratory ?

25. 5 99 B Tothe I # fSTeh o T ST 9T 31T 1 YT SRl 2 {9 I
& foru s A |

What would you observe on adding zinc granules to freshly prepared
ferrous sulphate solution ? Give reason for your answer.

26. iz e I BT HI, D5 3T 9T d Hig Jadd cyvl, FH TdH Hi
BIhE gl 20 cm &, SR 369 Torell eyt forray o1 widforsr wTod otk 39 QI h
HIohE AT W % T FEd @ | 98 o fREt gred 9@ @1 fawa it wifa
TN Hieh, THI-GRI & 3 I g fret 96 W g& o1 cfigor Afafers wmeq
HAT R | S AT JR § de/gdur 3R 9d & fiT A gt dy SR d, qen 56
degey gutfaa dier fafars g
(a) (20 cm, 40 cm) 3R (&fem 3T Fem)

(b) (20 cm, 40 cm) 3T (3T IR 3Ie)
(¢) (20 cm, 20 cm) 3T (3T IR 3Ie)
(d) (20 cm, 40 cm) 3R (&reT 3T 3een)

A I & o e s |
131/5/2 12
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217.

31/5/12 | 13 P.T.0.

A teacher gives a convex lens and a concave mirror of focal length of
20 cm each to his student and asks him to find their focal lengths by
obtaining the image of a distant object. The student uses a distant tree as
the object and obtains its sharp image, one by one, on a screen. The
distances d; and dy between the lens/mirror and the screen in the two

cases and the nature of their respective sharp images are likely to be
(a) (20 cm, 40 cm) and (erect and erect)

(b) (20 cm, 40 cm) and (inverted and inverted)

(c) (20 cm, 20 cm) and (inverted and inverted)

(d) (20 cm, 40 cm) and (erect and inverted)

Give reason for your answer.

I Tyefiudier it dicedier =1 3w 7t foran S @1 8 9« fowmmasen | sa<hl
g i feufd oi@ A ¥ qiT 38R & | 59 i S 31 Joaal 1 TN
forelt o | oKX T@T R, @ 3R gEAi 1 fedfa s B U @i sER 7 | €W
3R dieedl o 31 T AHi ol gl it 8 39 8@ & 3w afehed ¥
YA HET AT |

ARG A 3™ B

HAAT
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Torelt wfaass @ weifga o (D) K 38 Ufdligs & 0 | fave=m (V) ®
fdtar 1 e & o T fRE B 9 oM@ # v SIHER UMk T
foram |
G) I8 U fawarat W amg ) v & fowa § = e war g 2
(i) & Yfligs & 0 W fawe=R 25 V 8, a9 398 Jaied o0 Jd

sifs |
T 0-4+
0-3+
IA)
0-2t
0-11
1 2 3 4
v (Eﬁﬁ) —

The rest position of the needles in a milliammeter and voltmeter, not in
use, are as shown in Figure A. When a student uses these instruments in
his experiment, the readings of the needles are in the positions shown in
Figure B. Determine the correct values of current and voltage the student
should use in his calculations.

@0 10 i/mA \: 30@ 10~/ mA

\
Figure A Figure B
OR

31/5/2 14
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In the experiment to study the dependence of current (I) on the potential

difference (V) across a resistor, a student obtained a graph as shown.

1) What does the graph depict about the dependence of current on the

potential difference ?

(ii1)  Find the current that flows through the resistor when the potential

difference across it is 2:5 V.

T 0-4+

0-3t1
L)
0-24

0-11

1 2 3 4

V (volts) —

31/5/12 | 15



